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TNPSC GROUP i MAIN EXAM – 2023 
WALKIN TEST III TAMIL ELIGIBILITY TEST AND APTITUDE & MENTAL ABILITY   

 
Total Marks: 100                 Time: 1 hr 30 mts 
 

TAMIL ELIGIBILITY TEST 
 

1. fPo;f;fhZk; gFjpia mjd; mstpy; %d;wpy; xU gq;F mstpy; RUf;fp cq;fs; nrhe;j 
eilapy; vOJf. jiyg;Gf; Njitapy;iy.  
 
eLehL vd;Dk; ngah; Vw;gl;ljw;Fg; gy fhuzq;fs; $wg;gLfpd;wd. mitahtd.  
 
1. njhz;il ehl;bw;Fk; Nrho ehl;bw;Fk; eLNt ,Ug;gjhy; eLehL vdg;gl;lJ. m/jhtJ 

njd; ngz;izahw;Wf;F tlf;NfapUg;gJ njhz;il ehL> tlnts;shw;wpw;Fj; 
njw;NfapUg;gJ Nrho ehL; ,e;j ,uz;bw;Fk; eLNt ,Ug;gJ eLehL.  

2. kiyakhd; jhd; Ghpe;j cjtpfSf;fhf Nru> Nrho> ghz;ba kd;dh;fs; jdf;F mspj;j 
epyg;gFjpfis ,izj;J> %th; ehLfl;Fk; vy;iy cilajhf %th; ehLfl;Fk; eLNt 
mikj;Jf; nfhz;l epyg;gFjpahjypd; eLehL vdg;gl;lJ.  

3. KbAil %Nte;jh;f;Fk; nghJTilik cs;sjhf eLepiyikapy; ,Ue;jjhy; eLehL 
vdg;gl;lJ.  

4. kiyakhd; kugpdh; %Nte;jhplj;Jk; el;G cilatuhf> %Nte;jUk; cjtp 
Ntz;baNghnjy;yhk; Ghpe;jtuhf> %Nte;jh;f;Fk; eLepiy cilatuhf ,Ue;jikahy; 
mth;fs; Mz;l ehL eLehL vdg;gl;lJ.  
 

Nkw;$wpa ngah;f; fhuzq;fs; ehd;fpidAk; njhFj;J ,uz;lhfr; RUf;fptplyhk;. 
mitahtd:  
 
1. kpfg;nghpa njhz;il ehl;bw;Fk; kpfg; nghpa Nrho ehl;bw;Fk; eLNT cs;s xU rpW ehL 

Mjypd; eLehL vdg;gl;lJ. ,e;jf; fhuzk; nghUj;jkhfj;jhd; njhpfpwJ.  
 

2. KbTilg; Nguurh; %th;f;Fk; ez;guha; eLepiyik cilatuha; tho;e;j kiyakhd; 
kugpdh; Mz;ljhy; eLehL vdg;gl;lJ. ,e;jf; fhuzKk; nghUj;jkhfj;jhd; ,Uf;fpwJ. 
,jd;gb ghh;j;jhy;> ,d;W cyfpd; eLepiy ehlhfr; Rtpl;rh;yhe;J vd;Dk; rpWehL 
tpsq;FtJ Nghy> md;W jkpofj;jpd; eLepiy ehlhf ,J tpsq;fpapUe;jik Gyg;gLk;. 
,e;jf; fUj;Jf;F Gyth; fgpyh; kiyakhd; jpUKbf;fhhpapd; Nky; ghbAs;s  

 
tPahj; jpUtpd; tpwy;nfO jhid  
%tUs; xUtd; Jg;gh fpanud 
Vj;jpdh; jUck; $No Eq;Fb  

 
vd;Dk; GwehD}w;Wg; ghly; gFjp jf;f rhd;W.  

 

2. gpd;tUk; gFjpiaf; ftdkhfg; gbj;J> mjd; ,Wjpapy; cs;s tpdhf;fSf;F RUf;fkhfTk;> 
njspthfTk; rhpahd tpil vOJf.  
 

jpuhtpl nkhopf;FLk;gk; 
 

jpuhtpl nkhopf;FLk;gk;> nkhopfs; gutpa epy mbg;gilapy; njd;jpuhtpl nkhopfs;> 
eLj;jpuhtpl nkhopfs;> tljpuhtpl nkhopfs; vd %d;whf tifg;gLj;jg;gl;Ls;sJ. jpuhtpl 
nkhopf;FLk;gj;jpYs;s jkpo;> fd;dlk;> kiyahsk; Kjyhdit njd; jpuhtpl nkhopfs; 
vdTk; njYq;F Kjyhd rpy nkhopfs; eLj;jpuhtpl nkhopfs; vdTk; gpuhFap Kjyhdit 
tljpuhtpl nkhopfs; vdTk; gFf;fg;gl;Ls;sd.  
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gl;baypy; cs;s 24 nkhopfs; jtpu mz;ikapy; fz;lwpag;gl;l vUfyh> jq;fh> FWk;gh> 
Nrhopfh Mfpa ehd;F nkhopfisAk; Nrh;j;Jj; jpuhtpl nkhopfs; nkhj;jk; 28 vdf; $Wth;. 
nrhw;fspd; ,d;wpaikahg; gFjp Nrh;r;nrhy;> mbr;nrhy; vdg;gLk;. jpuhtpl nkhopfspd; 
nrhw;fis Muha;e;jhy;> mit nghJthd mbr;nrhw;fisf; nfhz;bUg;gijf; fhzKbfpwJ.  
 
rhd;W : %d;W – jkpo;> %Z – kiyahsk;> %L – njYq;F> %U – fd;dlk;> %[p – JS> 
jpuhtpl nkhopfspy; caph; vOj;Jfspy; cs;s Fwpy;> neby; NtWghLfs; nghUis 
NtWgLj;jj; Jiz nra;fpd;wd. rhd;W : mb – Fwpy;> Mb – neby;.  
 
jpuhtpl nkhopfspy; nghUs;fspd; jd;ikia xl;bg; ghy;ghFghL mike;Js;sJ. Mdhy;> 
tlnkhopapy; ,t;thW mikatpy;iy. capuw;w nghUs;fSk; fz;Zf;Nf Gyg;glhj 
Ez;nghUs;fSk; $l> Mz;> ngz; vd;W ghFgLj;jg;gLfpd;wd. ,k;nkhopapy; iftpuy;fs; 
ngz;ghy; vd;Wk; fhy;tpuy;fs; Mz;ghy; vd;Wk; NtWgLj;jg;gLfpd;wd. n[h;kd; nkhopapYk; 
,j;jifa jd;ikiaf; fhzKbfpwJ. Kfj;jpd; gFjpfshd tha;> %f;F> fz; Mfpait 
NtWNtW ghy;fshfr; Rl;lg;gLfpd;wd. tha; - Mz;ghy;> %f;F – ngz;ghy;> fz; - 
nghJg;ghy; vdg; gFf;Fk; epiy cs;sJ.  
 
jpuhtpl nkhopfspy; Mz;ghy;> ngz;ghy; vd;w gFg;G cah;jpiz xUikapy; fhzg;gLfpwJ. 
m/wpizg; nghUs;fisAk; Mz;> ngz; vd;W ghy; mbg;gilapy; gFj;jhYk; mtw;wpw;nfdg; 
ghy;fhl;Lk; tpFjpfs; ,y;iy. jdpr;nrhw;fshNyNa Mz;> ngz; vd;w gFg;ig czh;j;jpdh;. 
(v.fh. fLtd; - ke;jp; fspW – gpb)  
 
Mq;fpyk; Nghd;w nkhopfspy; tpidr;nrhy; fhyj;ij kl;Lk; fhl;LNk jtpu jpiz> ghy;> 
vz;> ,lk; Mfpa NtWghl;ilf; fhl;Ltjpy;iy. jpuhtpl nkhopfspd; tpidr;nrhw;fs; 
,tw;iwj; njspthff; fhl;Lfpd;wd. vLj;Jf;fhl;L: te;jhd; - cah;jpiz Mz;ghy; glh;f;if 
xUik.  
 
,t;tpay;Gf;F khwhf kiyahs nkhop kl;LNk mike;Js;sJ. mk;nkhopapy; jpiz> ghy;> 
vz; Mfpatw;iwf; fhl;Lk; ghy; fhl;Lk; tpFjpfs; ,y;iy. jdpr; nrhw;fshNyNa Mz;> 
ngz; gFg;ig mwpe;Jnfhs;s KbAk;. ,t;thW jpuhtplnkhopfs; rpy nghJg;gz;Gfisg; 
ngw;wpUe;jhYk; mtw;Ws; jkpOf;nfd;W rpy rpwg;Gf; $WfSk; jdpj;jd;ikfSk; cs;sd.  
 
jpuhtpl nkhopf;FLk;gj;jpd; njhd;ikahd %j;j nkhopahfj; jpfo;fpd;w jkpo;> gpw jpuhtpl 
nkhopfistpl xg;gpay; Ma;Tf;Fg; ngUe;Jizahf mike;Js;sJ. jkpo; nkhop 
%yj;jpuhtpl nkhopapd; gz;Gfs; gytw;iwAk; Ngzpg; ghJfhj;J tUfpwJ. mj;Jld; 
jdpj;jd;ik khWglhky; fhye;NjhWk; jd;idg; GJg;gpj;Jf; nfhs;Sk; gz;G nfhz;ljhfTk; 
jkpo;nkhop tpsq;fp tUfpwJ.  
 
tpdhf;fs;  
1. Mz;ghy; ngz;ghy; gw;wpa jpuhtpl nkhopfspd; mZFKiw ahJ?  
2. jpuhtpl nkhopfspd; gphpTfs; ahit?  
3. %d;W vd;Dk; vz;Zg;ngah; gpw jpuhtpl nkhopfspy; vt;thW ,lk; ngw;Ws;sJ?  
4. fhye;NjhWk; jkpo;nkhop jd;id vt;thW GJg;gpj;Jf; nfhs;fpwJ?  
5. jpuhtpl nkhopfspd; nrhw;fis Muha;tjd; %yk; mwpag;gLtJ ahJ?  

 
3. muR Kjd;ik nrayhsh; mth;fs; %tY}h; ,uhkhkph;jk; mk;ikahh; cah; fy;tp cjtpj; 

jpl;lj;jpd; fPo; muR gs;spfspy; gapYk; 6 Mk; tFg;G Kjy; 12 Mk; tFg;G khzth;fSf;F 
cah; fy;tp cjtpj;jpl;lk; njhlh;ghf muR Miz gpwg;gpf;fg;gLk; tifapy; mwpf;if 
xd;iw vOjpLf.  

 
4. gpd;tUtdtw;Ws; VNjDk; xd;W Fwpj;J 300 nrhw;fspy; fl;Liu tiuf.  
 

1. jpUf;Fwspy; kdpjNeak; Fwpj;J xU fl;Liu tiuf.  
2. jpUf;Fwspy; mwf;fUj;Jf;fs; vt;thW $wg;gl;Ls;sJ vd;gJ Fwpj;J xU fl;Liu 

tiuf.  
3. Mapuk; Mz;LfSf;F Kd;G vOjg;gl;l jpUf;Fws; jw;fhyj;jpw;Fk; vt;thW 

nghUe;Jtjhf mike;Js;sJ vd;gJ Fwpj;J xU fl;Liu tiuf.  
4. jpUf;Fws; Xh; cyf nghJkiw vd Nghw;wg;gLtJ Vd;?  
5. jkpo; ,yf;fpaj;jpy; jpUf;Fws; ngWk; ,lk; ahJ?  
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APTITUDE AND MENTAL ABLITY 

 
SECTION A 

2 x 10 = 20 
Answer the following in 150 words each 
 

1. Draw a histogram and frequency polygon to represent the following data. 
gpd;tUk; tptuq;fis nfhz;L epfo;T nrt;tfk; kw;Wk; epfo;Tg; gyNfhzk; tiuf 
 

Marks 
kjpg;ngz; 

10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 60 – 70 70 – 80  80 – 90 90 – 100 

Number of 
students 

khzth;fspd; 
vz;zpf;if 

12 22 35 40 60 52 40 30 5 

 
2. Answer the following questions 

gpd;tUk; tpdhf;fSf;f tpilasp 
 
a. The area of a rhombus is equal to the area of a triangle whose base and the 

corresponding altitude are 24.8 cm and 16.5 cm respectively. If one of the diagonals of 
the rhombus is 22 cm, find the length of the other diagonal. (5m) 
xU rha;rJuj;jpd; gug;gsT Kf;Nfhzj;jpd; gug;gsTf;F rkk;> Kf;Nfhzj;jpd; mbg;gFjp 
kw;Wk; cauk; KiwNa 24.8 nr.kP kw;Wk; 16.5 nr.kP rha;rJuj;jpd; %iytpl;lq;fspy; 
xd;W 22 nr.kP Mf ,Ue;jhy;> kw;nwhU %iytpl;lj;jpd; ePsj;ijf; fz;lwpaTk;. 
 

b. A sum of Rs. 1290 is divided between A,B and C such that A ‘s share is 
1

1
2

 times that of 

B and B’s share is 
3

1
4

 times that of C . Find the share of each? (5m) 

&.1290 MdJ A, B kw;Wk; C f;F gfph;e;J mspf;fg;gLfpwJ. A vd;gth; ,jpy; B ngWk; 

njhifapy; 
1

1
2

 klq;F ngWfpwhh;. B vd;gth; ,jpy; C ngWk; njhifapy; 
3

1
4

 klq;F  

ngWfpwhh; vdpy; mth;fspd; gq;fPl;Lj; njhiffis fhz;f. 
 

SECTION B 
2 x 15 = 30 

 

Answer the following in 250 words each 
 

3. Prices of a particular commodity in two villages are given below 
,uz;L fpuhkq;fspy; xU Fwpg;gpl;l nghUspd; tpiy fPNo nfhLf;fg;gl;Ls;sd. 
 
Village A 40 80 70 48 52 72 68 56 64 60 
Village B 52 75 55 60 63 69 72 51 57 66 

 
Which village has more consistent price? 
ve;j fpuhkj;jpy; epiyahd tpiy cs;sJ? 
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4. Answer the following questions 
gpd;tUk; tpdhf;fSf;F tpilasp 
 
a. Present the following information is a suitable tabular form (7.5 m) 

gpd;tUk; jfty;fSf;F nghUj;jkhd ml;ltizia jahh; nra; 
 
In 1980, out of a total of 1750 workers of a factory 1200 were members of a trade union. 
The member of women employed was 200, of which 175 did not belong to a trade union. 
 
In 1990, there were 1800 employees who belonged to a trade union and 50 who did not 
belong to a trade union of all the employees in 1990, 300 were women, of whom only 8 
did not belong to a trade union. 
 
1980,y; njhopw;rhiyapy; ,Ue;j nkhj;jk; 1750 njhopyhsh;fspy; 1200 Ngh; xU 
njhopw;rq;fj;jpy; cWg;gpdh;fshf ,Ue;jdh;. ,j;njhopw;rhiyapy; gzpGhpAk; 200 ngz; 
cWg;gpdh;fspy; 175 ngz;fs; ve;j njhopw;rq;fj;ijAk; Nruhjth;fs;. 
 
1990,y;> xU njhopw;rhiyapy; 1800 Copah;fSk; njhopw;rq;fj;ij Nrh;e;jth;fs;. NkYk; 
1990,y; midj;J Copah;fspy; 50 Ngh; kl;Lk; njhopw;rq;fj;jpy; Nruhjth;fs;. NkYk; 
,j;njhopw;rhiyapy; gzpGhpAk; 300 ngz;fspy; 8 Ngh; kl;Lk; njhopw;rq;fj;ij 
Nruhjth;fs;. 
 

b. A path 5 m wide runs along the inside of the rectangular field. The length of the 
rectangular field is three times the breadth of the field. If the area of the path is 500 m2 
then find the length and breadth of the field. (7.5 m) 
xU nrt;tf tay;ntspapd; cl;Gwkhf> 5 kP mfykhd eilghij cs;sJ. 
tay;ntspapd; ePsk;> mjd; mfyj;ijg;Nghy; %d;W klq;fhFk;. eilghijapd; gug;gsT 
500 kP2 vdpy;> tay;ntspapd; ePs> mfyq;fisf; fhz;f 
 

 
 
 
 
  


